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268|3| 11|E2 BtA (£)24% - (3%)10(%9) 3| 11| 3| 25 3| 25|@F= BtA #1054 - 25K 1F
269|3| 11|E2 BE (£)1007® 3| 11| 3| 29 3| 25|@E= BE 210078
270| 3| 11|#1I BT R | (£)2000 3| 11| 4] 9 4| 8|l BRI 2R %2007
203 IWRNER PAT L @yos - @628 A8 SE g el |man #1093%% - 2R17F
272| 3| 11|RINZEEB |25 1H%PT 3| 11 3| 17
273|3| 11|fE% NEBAEBPT  |(£)200/E 3| 11| 44| 5 44| 4|jB#% FUEBZERTPY #2001E
274|3| 11|jE#% ES) - 3| 11 3| 29
275(3| 11|@EH NEE - 3| 11|— |—
276| 3| 11| Ri& E N (&)1525% 3| 11| 3| 27 3| 27|/E& SZEKER £152%
277|3| 11|fERT IR B R1T ()25 3] 11— |— 3| 11|AEaT EmEie=2] SR17T5950%
278| 3| 11|pET F1E (£)1007€ - $85(53)24> 3| 11| 4] 2 4| 2|mEEq R #1007E - $R5592%
2913 LR PEY 100 - BITED6H. 10 g0 4] e PET #1007 - 8175365
280| 3| 11|fE#% Bhia 3| 11| 3| 29 B Bhia
281|3| 11|/5 & BX (#)2% 3| 11| 3| 14 3| 20|/E& B 2%
($%)39543% (2A%) 3| 14|58 BEh - BX $%39593%
282|3| 11|58 BEh (£)10018 3| 11| 3| 29 3| 20L& BEH £100%E
283| 3| 12|pE#T B (%)2007€ - (£)100€ 3| 12| 44| 10| 44| 24|pE3T EE £20078
6| 11|AE#T B 210078
284 3| 12|F M i (8%)66(59)6%9 3| 12| 5| 8 5| 8= =R #%66596%>
285/ 3| 13|#J1l BLD (#)1007€ - (85)45(54)3% 3| 13] 5] 1 5| 1|8l BLD £10018 - $£48530 %
(8%)15% 5[ 28|Hll BLD #1540
286/ 3| 14|fEH] HRER (8%)36(54)6%> 3| 14| 4] 14 4| 24|fBET BRER $£36506%
287| 3| 14|%i#k B ALTH 3| 14| 4| 18 4| 18|5# = ALTH
288| 3| 14|%i#% B ALL 3| 14| 3| 29 4| 18|% B A44SR
289| 3| 14|#i#% IER (4)1007€ - ($2)1595% 3| 14| 3| 29 4| 185k IRfEd #1595 + €100
290| 3| 14|fE#k HER= |— 3| 14]— |—
291 3| 14|25 B (£)100/ - (8%)105 3| 14| 4| 28| 4| 28|23 B £1007E - 5105
292| 3| 15|BA5M B 32(59)54> 3| 15| 4] 20 4| 21|BHM B $£32595%>
293| 3| 15|BAMfEL (BeRATPY (&)14:25% - $R4(59)8%> 3| 15| 4| 230 4| 23|BpMiEL |BEEAFT% RAK8S - &1H2%K
294| 3| 15|BAM T8 ()25 - R7(59)65> 3| 15| 3| 29 4| 23|BHM FBh 241 - SRT65
295 3| 15|&EE 3] (82)6(53) 3| 15|— |— 3| 15|@F® 293 ¢ #6450
296|3| 15| BY& (£)10058 - (£)2% 3| 15| 4] 7 4 7|Za BY & £1007E
44| 12|25 B & 2RI
297|3| 15 %@ REN (&)2% 3| 15| 3| 29 . 7%5 ¥Bh 4100
298| 3| 15|28 BERL (#)2% 3| 15| 3| 29 E0] BERX
299|3| 15|&8= BED ()25 - (8%)10(59)5% 3| 15| 4] 9 4| 9gE BZD #£105959 - 2%k
300| 3| 15| HE (#)3007€ - (£)100%E - 3| 15| 5| 18 5| 18|fEi& HE 230078
(£)100%€ - (8%)7(5H)5% 8| 22|pRi% 55 £100E
10| 12|pB%#% H&H #7955 - 10078
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XB2%E3R ABBHALT [Bigo"—"I3#HA L. KAFIEARER] AHURE [hiA L B 3 2H)
HEEMLAME(ER) WDES BB z08E AEEI RTH | XB WBGER)  XIER K z08E
301[3 15514 X PYER (8%)7(5)54> - ABS - (8%)5 3 15 3 28 3 28 % X YR $275955

- ($2)7(59)5%> - (88)7(59)5 4 16|51tk X PYER $%554.
B 44 12 54 X YER #7955
10 23 %4 X PYER /75955
3023 16 &) Had 217 3116 6 9 6 97 BE 217
303|3 16/t |KBEL (£)1/25 - 24% 31160 3 29 6 9N REBEL £1m252%
3043 16 BEM i 21 3/ 16 44 16 | 44| 16 BEM i 217
305|3 16/&F% 1B - 3/ 16 — 3 16/ ¥RBh #2255 %
3063 16 £ +HER (8%)10(59) - BR)7(59)5% 3116 3 20 3 20 &M +HEB #1059 - $R75U5%
307|3 16|%# F1E - 3] 16— -
3083/ 17 BN wE (&)152% 3117 4 23 4 235 wE £152%
309|13 17 RN  MHEES (£)182% 3 17 3 19 3 19 &M =l £152%
3103 17|%#% BE 8 317 — 4 4% BE RS
311(3 17 B FEBh (4)300%& 3170 4 7 5 21/ EBh 30078
312|3 17/pB# ESaE (£)1007€ - $815(%) 3117 4 14 4 14 B8 gt $R15% - £100/€
3133 17|Ri& SEPUER 211 317 5 17 5 17 £ SEUER £1m
314|317 K& BZ & $RA1(5)65 - (£)1007E 3117 71 6 7 6EE Bz & £1007E - $R41596%
315(3 17|54f AR ER (8%)5(59) 3 17|— 3 1754 AR EB #55
316/ 3 18|BEHT BER (£)3007 - (£)3007E 3/ 18 —
317 3| 18 &M 228 ()17 - (#)2K17 3/ 18 8 10 8 10 &M =W £17
12| 25 &I )] 2K1T
318| 3 18|fE%T HEHEM (£)1005€ 3/ 18 4 23 4 23 fEaT HEHHE 210078
3193 188K KER (8%)7(59)5%> - $R5(59)3%> 318 4 —| 44 6BE KER 7555 - R5/3H
320/3 18 &= K=ER $R1308 3118 10 22 10 21 B& R=EB $R1308
321|318 ML HREE | o0 comen S 4754265
3223 18[BAM{EL | =EMAEER 3/ 18 3 29 =EMAER
323[3 19/#0)1| [z oyl (82)12(59)5% 3119 4 3 4 3y izl #%12595%>
3243 19 E=2 EE/EME R’7TA 3 19— 3 19/ F=2 BEEEPIK R4
3253 19/jE#% EX (£)100€ 3 19 — 3 19/ R £10078
3263 20/ &E BZOD (£)2007€ - $819(%9)5% 320 5 19 5 19/8E BZED £2007E - $219595%
3273 20/ &2® RS AP (£)100%E - $R2(59)8% - R 3 200 4 23 4 23BER RS AR %100/ - $R25969 %
2(5)5%
328|3 20/5%% FEEMR  (£)1008 - A20(R) - (£)2%| 3 20 4 28 4 28tk HrA AT £1001€ - A208
17 5 27 itk Fyatoie MELT
3293/ 20 #Il 550 A40(E) 320 44 2| 44 2k  BBLK AL0E
330/ 3 20|FF XE—ERER (£)2/1% - (£)2/2% 3120 5 10 5 10FF RE—BABPIR €2/ 15
8 24 11 20 11 20 FF KB HERERPTh &2m28
3313 21Kk MEERE  (£)300F 3121 3 27 3 27Kk ERE* 230078
332|3 21| FE HAEEPIN  $R2454 3121 5 10 5 10 FE§ b ¢ $R244
333[3 21 7B BER 485(49) 7% 3021 4 6 4 6FH B $R55974)
3343 21|28 T (£)100%E 3 21 4| 16
440 20 44 29 44 29| up:4 210078
3353 21|fE#k Ht (£)252% - (2100 - 3/ 21 5 17 Z ;; ggz ;E zi}f
(£)100% - 708)5% 10 12B%  EEk 2100
336|3 21 &% REEMA ()25 - (£)2% 321 44 11 44 12/8#% feesTcilinh o #2008 %
3373 21 = TP (®)152% 3 21 44 17 44 17 [EB%k LIk £152%
338| 3| 22 &M PABREB 3 22 8 24 M e (£)471% - (£)100EH 4
33003 2N ke 322 3 290 & gy PRAE
340 3| 22/ R NEEP (£)100€ 3122 4 11 4 11 BM NEHEM £100E
341(3 22| &M BT (®)2% 30220 7 7 7 8 EM BT YESh
342|3 23|#ik R BR (£)2007® 3] 23] 44| 29| 44| 20 % P £2007E
343| 3 23/ BBH] BEamr  RI0(W2% - ()55 - 30 23] 4] 2/ 4 2mE& B 4P $£559 - $R1052%
(£)1007 - $R14(5) - iR 4 14 5 22/ 5 22 pEET Bl $R1449 - £100/E
7(5)64> « $RI(59)4% - ()2 6 8|fEdT BEHEM FRT69>
k- (&)2% 7 17 |FE#T BlH & RIS 45>
8 24|fE#T BEHE 25K1T
11 23 a1 EAEP 2K1F
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XE2%E38 AZEAILT [Bo"—"IER#H L L. KFILRER] BEURE [KizAL B 2 2 H]
EEMLZHMAGER) WL2ER BB z08E AR KBTH XA sidEE)  XIhER B Z0E
344|323 fEA] FASEB Al45 323 4 20 4 2B MR ER A145.
345(3 23 2% 31 (8%)6(59)5% 323 4 6 4 6% 1B 565959
3463 23 #Il P NS (£)1008 3 23— — 3 234011 FFELK 210018
347|3 232 A (#%)30(8) 323 44 3 44 3R Fih $£308
348|3 232 =% (£)100€ 3123 4 30 4 30f@EE =X £100%E
349|3 23 =2 BHE (£)1007€ - (3%)759 323 44 3 44 3= BHY 10078 - #7540 %
3503 23/&E% BE (£)1001€ 323 3 29 44 3z BE 210078
351|3 23/E% Bk (82)12(59)5% 3123 4 1| 4 1= BER #12595%>
352|3 23/ &% 55 (82)12(59)5% 323 3 29 4 1@ 5 #%12595%>
353|3 23 EE BEEEPMRN — 3 23— |—
354|3 24 #l| R BRI (£) 1008 3 24 3 28 3| 28 ol R R TP 2200
3553 24 #Jll KITHEAETEF] (£)1007E - (£)100/€ 3 24 3 29 )11 KIFHE AR
441 20 )1 KIFHEEFI, | £100E
356|3 25 Bk BHE (£)1007 - $R12(54)8% - 325 44 5| 44 4% BPHE £10018 - $R125969%
(£)1001 - $R13(59)8% 8 9 9 29 9 29fE% BHE £1001 - $R13598%>
357|3 25 B BE (£)100€ 325 4 12 4 12 fRt% B £100%E
358(3 25 fBi% Bek (£)100% - ()24 - 81(59)6 3/ 25 3 29 4 12/B#% BE & %1008
b 8 9B BE& $R140%k - 25K1FT
359(3 25 &R HiE — 3 25— —
360|3 25 &% 3Tl (4)1007€ - (£)200% - 3 25 3 26 3 26%% %) 210018
(£)1005€ 4] 25 &% HEER* 220018
8 25 &% BETx £1001E
361(3 25 BR B<h $R41(59)2% 3 25 44 26| 44 27 BIR Bh $R415924>
362|3 25/ F5fEL | FILESED (8%)32(59) 69> 30 25| 44 21 44 21|FHM ROITE=:1)| $%32596%>
363|3 25(B5M{EL ELARZER  $R365 3/ 25 4 23 4 235N EMRARE,  $R365
364|3 25 &% HR (£)30018 3125 6 24 6 24% i 230018
365(3 25 &% W (£)2007€ - $R4(5H)8%> 3 25 5 14 5 14 &% i 20018
6 24 &% HHE $RA8H
366(3 25 B =1 $R7(59)5% 3 25 4 8 4 8@ = R75960%
367|3 25 fB# B (£)1007 - $R4(59)25> 3| 25|— |— 3 25/Bt& F8h %1001 - $R45929>
368|3 26 fEET [FiE T N (£)2001€ 3/ 26 4 24 4 24 fEHET FERK 220018
369(3 26 &M 1E T (#)1%2% 3 26| 44 220 44 22/ &M [F==c) £152%
370/ 3 26/ Mt ABEFFAR  — 3 26— —
371(3 26/#J1I FA A23% - (8%)2593% 3260 4 18 4 18/l FA A23%. - $52543%
372|326 #)II BILFTR (£)1007€ - 1008 326 4 100 4 1001 ESTIE /4 210078
7 6/l ST/ %1008
373|3 26/ =2 FREER (&)1525% - (85)12(59)55 3/ 26 44 6 44 6 [EE FHEAK £1525%
8 22| FEE $%12595%
374|3 27 BET =R (£)2% - (£)100% - 8834 - 3 27 5 26/ 5 26 @& H=B 220078 %
$R55 - ($%)10(5)5%> - R 6 5 7 7. 7 8Rkk FR=ES £100/E - $R35
3(59)5% 8 14/ pE#T FR=8F SR55Y
9 4fEgT =88 R34 % + $5£10595%9
3753 27 /WA MEBAREPIE (£)1007E - (8%)85. 327 44 16| 44 16 /A NEREBEIFIR 2100 - 755 %
3763 27 &% RA (82)37(59)5% 327 44 T 44 6 R TR A $%37595%
9/ 22/ 9 30
377|3 27 &=z Bt (8%)12(59)5% 327 4 12 4 12@E= Itk #1295
378(3 27 5tk BE (£)1007 - (#%)355 3127 5 7 5 T7%#% BEb %1007 - $£3550
379(3 27 &I REREP (#)2% 327 4 5 4 S5 &M TREEP 2K1T
380(3 27 =) {E+8B (#)3%2% 327 5 17 5 17/7=M 1E+EB 3525
381(3 27 fRi% f=RER (£)2007€ - (£)100%E 327 44 4 44 4 fRTR ZRER 220078
8 9 m#% ZRER £1007E
382(3 28 fEH] BaR ($2)20(8) 328 4 23 4 23/fEEl BERM #2208
383|3 28 JEET ZHEM (82)27(5)5%9 328 44 20 44 2 PBET EZ=Tc ! 275955
384|3 28 fEET F+ (82)16(59)6%9 3 28 4 16/ 4 16 pEET T+ #%16596%>
3853 28 FJi FRZE  (£)300F 3128 4 1 4 1ENM FRNZE 230018
3863 28 #ll EBh& (#)2007€ - $R3(59)2%> 3/ 28 44 21| 44 21 EBhk $R3530 % - £200/8
387|3 28 4l BER (£)2007€ - A115. 328 3 29 44 22/H0)1 Bk £2001F - A115.
388|3 28Rk nE (£2)1007€ - ($2)10(59) 3 28— — 3 28 Btk & #1059 - €100
389(3 28 BR %8h — 3 28— —
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XB25E3R8 AZEILT [E#o"—"I3EH AR L. KFIERER] AFVYRE [KIFAL R 2 H]
EE AR (X WEEs BB z08E RIS TH | kB WBGER)  XIER K z08E
390| 3 28|&31 Big — 3] 28— —
391| 3 28[BAMiEL [FEE=ERR $R435 3 28— — 3 20 Bk BEZER $RA25 %
392|3 29 HM = (£)200/8 - $R4(59)1% + (£)2) 3 29| 44 21 44 21 HHA = $RASI1S - £20018
K1 - $R4(S9)2% - #L25 - 6 17 HMA =5 SRAS29 - 25R1T - #.2
(£)1007 - 40032 12 9 HMA e 10078 - (?)65965%
3933 29/fE#k =N\ R17(59)5% 3/ 29 44 3 44 3Rtk =Y\ RITHTHh
XE2%E4R ABEALT [Bom—"I3m#% L. KFIdRER] B.&&Y Rk [KkIFA L R 2 H]
EE ML EME(ER) W2ESR B z08E AEBE KTH | XILE WBEGERD  XIESR Kigez08E
394 40 140 Bdh (3%)30(8) 4 1 44 1 44 1 BLha 275590 %
395 4 14 BaH& #R12598%> 40 1 44 1 44 1w =R $R12598%>
396 4 1/EEIERE SIOEF (£)10078 - $R297H 4/ 1 4 25 4 258E# STOIEE* $R2574 - 10018
397 40 24 TERER (#%)255 4 2 4 26 4 26 ERER $£25450
398 4 2 Ml FARPR (G239 4 2— |= 40 2\ AP $%550%
399 4 2 M EEEM (£)100% - ($%)4%4 4 2= |— 4 2| BEETCN 4 %£100/F - $%40030%
400 4 3|5k EHEM - 4 3044 29
5 25 6 7
4014 3 fEAEY HERE $R65975> 4 31— - 4/ 3MmaEY BEEf SR65UT 5
402/ 4 3 fERED BARAM $R55 4 33— |— 4 3|fEgET LERM $R55.
403 4 3|[EAITHA R S RER (#%)18150(30) 4/ 3 44 4 44 4 BRET BUKERd #%181503
(#)100%E 5/ 19 7 240 7 24 fEHEY EREB 21008
404 4 3%k EHEM AB25. 4 3 44 10 44 10 %t EH#M A525
4054 4 BR fEARER (8%)125959> 4 4 44 20 44 2 BEN  BREK 125954
406 4 5 fBi% NTFHR (£)1007€ - $R45 4 5 44 9 44 4R ATHR $RAS - £100/E
407 4 5|pEET BE (8%)22(X) - 865925 4 5 44 5 44 T FEET BpE $R659249 - $5215965%
408 4 6 #)ll TET (£)1001€ 46— — 4 640 TE*x £100/E
409/ 4 6/ #0)1 BHER R15 - A40 - 2%k 4 6 4 120 4 12/80)1 AR 815459
5 25 BAER A40H
712|401 AR 25K1
410 4 65 AZER (£)2001€ 6 44 9 44 9 %L AZEB 220018
411 4 6 M| wHEEMN  (£)100E 4 6 7 7. 7 S5#0I BaERM 1M
8 21|l feesrcils! #1008
41214 6/HII BTHR 21/ - (£)100/€ - $84% 4 6 44 5 8 13 #I Bb& 210078
413/ 4 6 #)Il R (8%)26596576%F 46 4 240 4 24801 EF $%2659670%
414 4 6 #Il EY ) (8%)27596576% 4 6 4 24 4 244 B0 27565 %
415 4 6 EI H+ (#%)30(8) 4 6 44 14 44 14 EBN e $£308
416/ 4 6|5tk BF A155 4 6 4 14 4 145k BE A155.
41704 7 3k REE (£)200%F - #8354 4 7 5 3| 5 35 g %2001 - $B354
418/ 4 7/BMA RS (£)100%E 4 70 4 22 4 22/HMHE F &P 210018
419 4 7 BHM RHEREM 15985 4 7 4 30 4 9BHM FHEEM SR1598%
42004 7/fRi% R 865995 4 71— -
421 4 7|ER At 25K - (8%)105 40 7 44 1 44 1 EE At 24R1FT - $560030K
42214 TR BEA (£)1001€ 4 7 44 6 44 6 fEE BEA 210078
4234 7|L% DER - 4 7= =
424 4 8/HIl H1E (£)100 4 8 44 1 44 1HI H1E 210018
(£)100E 7/ 18 #0)1l HE - &R 210018
425 4 8 #ll &R (#%)25%9 4 8 4 23| 4 23# £R $£25450
426 4 9|mEft EY - 4 9 — -
427 4 9= A 21 4 9 5 14 5 14 =) HF 21
428 4 9 =) AR (£)1M2% 4 9 4 30 5 14 =) T £1M24%
429 41 9 =) Bl & #8394 49 4 15 4 14 =M BYE 38395
4304 9B%» |HBZEHR (&)152% 4/ 9 12 20 12 20 &% M= 15245
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X254 A AZEHLT (B -3 8 L. KFIERER] B.&stU X b [kIFAL ExR 2 2H]
EH #0228 | e (ERD) NELE4 Bt z08 B €TH | XIABE R (ER) XihESR B Lz08E
431 4 9|fEET HERATRIFT — 4 9|— —
432 4 9|fEEl B (£)200E 4 9 5 4 5 4R BYD 220058
433| 4 9|FF IS - 4 9|— —
434| 4 10|fE#% pedil) (£)100 - (%)257% -0 | 4/ 10| 5 3 5 3| pd)] #2595 % - ©1007E
435 4 10|fmt% E (£)100 4/ 10| 44 140 44 14|pRt% E 210058
436 4 10|BR BEHRN (3%)1295%> 4/ 10| 4 13 4 13|&8= EEEk #%12595%
437| 4 10|fR#g 32t (£)100E - 3835 - 4 10| 44 1 44 1R REE £100/E - #8389
(£)100% 5 17/fR%% HEE £1%
438| 4 10|%if% BhRER (8%)12595%> - (8%)55 4 10| 4 26/ 4 26[fEETh  |Bh=EB% #12595%
44, 6|H BOREB #%55
439| 4 10|fEEY FA (#)100E 4/ 10| 44 21 44 21|fEEY [E27AN 210058
440| 4 10|fEET B (£)1005€ - $R444> 4 10| 44 200 44 20|pE#T B #1001 - $R4594%5
441| 4 10|FFM| 5 RER (£)100%E 4 10| 5 15 | 5 16[pM 5= ER%k £100%E
442| 4 10| AEBkK Bui A50(8) 4 10| 4 24 4 28|ARBK  |BLhA A508
443 4 11|FE= FAEEM (£)100E - 95965 4 11 4 25 4 25|FE2 AHEM #1007
44 27|32 AEREM 3R 65>
444| 4 11|pRf% B — 4/ 11— | —
445 4 11|fRt% B — 4/ 11— | —
446| 4 11|FE= Hh $R1453% - 2517 4/ 11| 44 200 44 21|@E= Hf $R14593% - 25R1FF
447| 4 11|AREY Vil (£)100%E - 75954 - $R6 | 4| 11| 44 26 44 27|fE@) ba)-3 210058
5%
448| 4 12|BHIM BRI $RAK55 4 12|— |— 4 12| &M TEROk FRAKY55
449| 4 12|fBt% KR (£)200 4/ 12— — 4 12|fRt% KIER 220078
450 4 12|%#% NEERA - 4/ 12— —
451| 4 12|fRig #=)Imtn (£)2007E - £200%E 4/ 12| 44 15 44 14|fRi% HIEEHh  |£200E
6 6/E% HEEHh  |£200E
452| 4 12|RM fs¥== ] - 4/ 12|— —
453| 4 12|@E= =t #8208 4 12| 44 11, 44 12|F=2 =t 38208
454| 4 13|32 B (£)1007€ - $R3598% 4 13| 44 3| 44 3|FE= B #1001 - $R35925%
455| 4 13|28 =R #R248% - $R2599%> 40 13| 4 210 4 21|27 =R R2598%
5 30|&#] =RB $R2599%>
456| 4 13|33 25 (£)252% 40 13| 5 17 5 17|%M ] E2525K
457| 4 13|%ii% Bt (£)100%E - (&)1007€ 4/ 13| 5 18
8/ 29| 11 19/ 11 18|AR*k% |[EL £100%E
458| 4 14|HMA BEbH (£)2007E - $895944> 4 14 6 17/ 6 17|B@A BEH #300/E %k - 89545
$R24593% 9 7|/ 10/ 10, 10 9|HH BEbH $R824593%
459| 4 14|RMFK &S (£)100 4/ 14| 4 21 4 21|EM RAEE 210058
460| 4 15|pB#% BTOD (8%)25(59) - $R75H 4/ 15| 4 21 4 22|pRis BFo #2545
6| BITOD /75
461| 4 15|41 FKER ALTH 4/ 15| 44 3. 44 3| FKER ALTH
462| 4 15|@fE EH - 4/ 15— | —
463| 4 15|t EH - 4/ 15— | —
464 4 16|HEFE ®F - 4/ 16|— —
465| 4 16|fEET EE ($%)15% 4 16| 4 24 4 24|BEHET ER $%15%
466| 4 17|HEEAN | LHEEM — 4/ 17| 4 24
467| 4 17|81 KHEEM (#)100 4 17|— — 4017|4011 KEHM £1005E
468| 4 17|#0)1 TR ($%)22595% - A1149 - 4 17| 4 30| 44 201 TR $#22595%
(#%)4003 - £100%E 8 11| 11 15 8 11|#l TR ALLS - $54003C
11 154011 TR 210058
469| 4 17|2mi00 |&8F — 4 17— | —
470( 4 17|80 IR (£)100 - 2% - (#)1% | 4 17| 44 3| 44 3|#0)1 IR 210078
ES 7 260 8 6 8 6|1l FRER 25KR1
8 24| 11 17 11 17|01 FREXR E252%%
471 4 18|fEEY BT & (£)1007E - (32)17595% | 4| 18| 44| 24 44 24|fB&E BT & £1007E - 175959
472| 4 18|fEEY 2+ (£)1007E - $R4595%> 4/ 18/ 5 3. 5 3|fEaE 2+ $R953550% - € 1007E
(#)100%E 79— — 7 9BEEG 2+ £100%E
473| 4 18|m@E#% R — 4 18] 4 21
474| 4 18|FF B — 4/ 18— | —
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HARPUAHRAL, SURTE H R R O 28R
XHE2%E4R AZEILT [Bigo"—"13mE4H L. KFIERER] B.&ftURE DhIFA L B 5 2EH]
EE | #1328 | #hk (EFT) a4 Bt ZnE ARt KTH | XIB e (ER)] ZHES E#Lz08E
475| 4| 18|#Il RF (§%)20504% - 2%k 4| 18| 4| 300 4| 30[#0)I RF #%20844%>
476| 4| 18|FE M BE ($%)1859592% 4| 18| 44| 8| 44| 8|BM BE #18M3N3EK
477| 4| 19|2HME  |BHA (£)100% - (£)100E 4| 19| 44| 9| 44| 9|lE% BhA 21008
5/ 30|HEX |HHA 2%1%
478| 4| 20{BHM BB - 4| 20|— |—
479| 4| 20{B5M Et (£)1005€ 4| 20| 44| 16| 44| 16[p5/N Et £100/€
480| 4| 21|xkZ& F=Ep - 4| 21|— |—
481| 4| 21|@E R BB LA - 4| 21|— |—
192 4 22 R At (£)5007€ - $R10538%) a2z T TR g gl R TEAN | gs00m - 110K
483| 4| 22|Ei% FER 4| 22| 4] 30 R FER
484| 4| 22|B5M YEAT £1M 4| 22| 4| 240 4| 24(B5M TERT £1M
485| 4| 22|@AR EREB (5%)10(%) 4| 22
4| 26| 44 4l 44| 4|EfLE =54 #1044
486| 4| 22|BBE  |BAN (£)1007€ - $R11596% - 2| 4| 22| 44| 7. 44| 7|5 BR £100/E
ES 5/ 10| 5| 24, 5| 24| BN 115965
7| 19|51 BR 2K1T
487| 4| 22|k EE  |EF A30(H) 4| 22| 4] 28 4| 28|50k EAE A308
488| 4| 22|FF F A (£)2007€ 4| 22|— |— 4| 22|FF FRAE £200/E
489| 4| 23|x$N HKFE 4] 23 18 poplll
290| 4| 233 kS (@700 a2 430 O B |PAHF ETOOE
491| 4| 23| RI% BEA $R18% - (52)1007E 4| 23| 4] 30/ 4| 30|Ri& BEA $R185955 %
6| 24|Rix BEA £10078
492| 4| 23|fBt% HERES (£)1007€ - #8959 4| 23| 44| 8| 44| 8|k & Bk £1007€
6| 30|Mm%#% Rk #£94
493| 4| 23|fRi% ZER(HBZV)  |(#)300€ - B791H 4| 23| 6| 30/ 6| 30|fEk BAWL £3007E - $R7591%>
494| 4| 23|pEt% st (£)100%E - $R114595%) 4| 23 300 6| 30|fmi% Bt $8114595%) - €1007E
495| 4| 23|11l BHE (£)1007€ - (£)100%E 4| 23| 44| 5| 44| 4l B £10078
6| 26|#)11 B 21008
496| 4| 23|Mft e - 4| 23— |—
497| 4| 23|@AR BT (%)15% 4| 23| 44| 14 44| 14|Ef BT #1540
498| 4| 24| R1F BE — 4| 24|— |— 4| 25| Rz BE $R24595% %
499| 4| 24|#itk BRER (£)3%52% 4| 24| 6| 23] 6| 23|#@ik B £352%
500| 4| 24|FIHET BRE (8%)129.54> 4| 24| 4] 30 44| 1|FIET |BRAE $£125954>
501| 4| 24|%i#% L=ER ($)1008 - 7(52)5% - 4| 24| 5] 2 2 ZZ szi EEEE Ezg/.\ﬁﬁm%\
IR, P ki 77
2%1.8;;;2’2%@%)30(@5 7 12] 9] 5/ 9 6|z |m=wm $%30H %
9| 26| 12| 5 12| 5|H#E BEER $R385984%>
502| 4| 24|&% A& $R55914> - (£)100/€ 4| 24|— |— 4| 25|21 Z2E% $R55919
8| 25| 9| 15 9| 15|&% K& £10078
503| 4| 25|FAH SHTLEAFIR (2% - 210 - 182489 4| 25| 5| 17| 4| 25[B5N =HT APk 24517
5| 16|Bf ZHT AR $R245 - 17
504| 4| 25|B5M B RATHES 4| 25| 4| 30/ 5| 16[p5/M EEX RATHES
505| 4| 25|Mf BHD - 4| 25|— |—
506| 4| 25/@Aft R BB FLfT - 4| 25| 4] 30
507| 4| 25|ppNOIR  |EEFEEM $R60(H) 4| 25|— |— 41 25|85 EEFEEP |$R60B
(£) 124 11| 25|03k Eh A% £600E
508| 4| 26|51 X&E - 4| 26| 44| 11
44| 22| 5| 14
509| 4| 26/@Aft MARER - 4| 26| 44| 3
510| 4| 26|&M R BB A (®)152% - (85)55 4l 26| 7| 20 7| 1|EM R BRI £1525K - #5559
511| 4| 26|01l + (32)10(5) 4| 26| 44| 3. 44| 3|# +# #1059
512| 4| 26|fEt% F=Sc] $R114 4| 26| 44| 5| 44| 4B HRA $R114
(&)18:2% 6| 16| 8| 5 8| 5|fE% R w1525
513| 4| 26/jE#% SEBFAA — 4 26|— |—
514| 4| 26|fE#% #l+ - 4| 26| 44| 2
515 4| 27|%itk BHD $R144 - $R11594% 4| 27| 44| 10| 44| 10|5i#k BHD $R145
$%308 5| 17|51 Ehro $R11594%5
8| 14| 9| 21 9| 21| BHD #£30H

— 200 —



19 KGR 205
XB2EAR ABEHALT [B#n "3 #H L. KFIERRER] B.&FtURE DhlZAE B4 5 H]
EE | fI2H | A (IER) NLE4 B zo®E AR R TH | XA | R (ERR) KihE# B Zz08E
516/ 4| 27|MK ANl 12595% 4| 27| 44| 10, 44| 10|ERK N $%12595%)
517| 4] 28|M@ BHEFN - 4] 28| 44| 2
518| 4| 28|iE2@mE  |+REB 38128459 4| 28| 9] 30 9| 30|#&IN%k +RER $R12659%
519| 4| 29|%FM FiLEsE (#)1525% - R2H 4| 29| 44] 11, 44| 12|59 BLUIF £152% - 8258
520 4| 29|&/& Bl — 41 29| 7| 2
521 4| 29|FFFME | KHHEF (#)252% 4| 29| 44| 24 44| 24|FF KA £252%K
522 4| 29|FFFME | R (%)2007E 4| 29| 44| 17 44| 17|FF EREB %2008
523| 4| 30| JREB — 4| 30|— |—
524| 4| 30|FE A (£)1007€ 4| 30|— |— 4] 30| B 210078
X248 ABEHLT (B —"I3R#HAe L. KFIERHER] B.&stYR T [hlzAL B 2L EH]
EE | Y28 | i (ERR) nLER BgLzo8E amBE #TH | X8| #EER KihEA Bk Zz08E
525| 44| 2|fBt% BE (£)2007F - 8855924 - 3R | 44| 2| 6|16 6| 16|fne BE $R552% - ©200%E
135964 - $812598%> - $813 8| 7| 9=2c) ¢ 38135965
5 10| 4|pE BE $R12598%>
12| 23|pE#% d=2ci) ¢ 38135
526| 44| 2[FTHT T\ (8%)50(8) 44| 2| 44| 8
5/ 9| 8| 6 12| 21[FIET N $#508
527| 44| 3|EMABL? |NHEFT (#)34%25% 44| 3| 44| 170 44| 17|EM NERFI% #3525
528| 44| 3|5k XERN — 44| 3| 44| 9
529| 44| 4|28 R&ER - 44| 4|— |—
530| 44| 5|pB#LEE BREHE (£)3001 - (£)600T - 255 44| 5| 44| 27 44| 27|pE#% %@E%%* %3007
6| 26(pmi% B 220078
8| 29| 10| 10 10| 9|pE# BrE £6007E
531| 44| 5|FEE KERE (#)10078 44| 5| 44| 9 44| 9|E=R et 210078
532| 44| 5|BER nE (8%)47595% 44| 5| 5|11 5 11| 8= nE $RAT5959)
533| 44| 5|BE Bt (8%)20(8) 44| 5| 44|15 5 11|BR Bt $%208
534| 44| 5|pE#% e (£)5007F - (£)2001F - 44| 5| 6|16 6| 16 EET& %fiﬁ* 250078
(£)100% 8| 7| e ol £20078
535| 44| 5|pEiL K= F1 44| 5| 44|29 10| 4|pE#t =FHK %100/F - R25955%
536 44| 5|3 B\ — 44| 5|— |—
537| 44| 6|l BE®M (8%)12595% 44| 6|— |— 44| 6|41 BhAE $%125959)
538| 44| T7|fE#% F=H1HP — 44 7\— |-
539| 44| T7[pEi% IEAET (#%)855% 44| 7| 44| 100 44| 10|fmi% JIEA I #8555
540| 44| 8|5tk REfER — 44| 8| 44| 29
541| 44| 8|EM =% ($%)30(8) 44| 8| 5| 8 5 8|&F M BB $£308
542) 44 8B Gl (84)33593% 44) 8 4411988 ) 1ol B #3334
543| 44| 8|=EM BEA 44| 8| 44| 29
544| 44| 8|7 M BFR - 44| 8| 44|29
545| 44| 8|pEt% B $R65935 44| 8| 44| 11| 44| 12|fBt EEE $R6593%
546| 44| 8|B#ILE Rt 2% - $R3599% - $R144 - 44| 8| 44| 28| 44| 28|fEt% Bt 835999 - 25%K1FT
(£)1007€ - $R5597% 6| 13[fB% Bt $R1459
10| 18|pE#% Bt %1008 - $R5597%
547 44| 8|B#ILE  |{EBh $R135924> - $R12593% - 44| 8| 44|11 44| 12|pEi% =8 $R135924>
(£)1007€ - 855975 6| 13[pm%% =8 $R12593%>
10072 - $R55974>
548| 44| 9|3fk BRI AT55 - (£)200 - 44| 9| 5|25 5| 25| BA AT55.
(#%)40032 8| 19| 11] 10 11| 11| BIik $54003 - #3008 %
549| 44| 9|%tk &% (8%)4003C 44| 9| 44|29 5| 25|51 2% AT55%
550( 44| 10K HEXHERPIN |(£)200E 44| 10| 5|19 5| 19|Ri% HEXERPIN |£200E
551| 44| 11|51 ME (&)152% 44] 11| 5|29 6| 20|53 AE ®152%K
552| 44| 11|11 ERAD ()1007€ 44| 11| 44| 25 | 44| 27(#0)1| ER £1001E
553| 44| 11|#)1| FRE (£)1007€ 44| 11| 44| 25 44| 27|81 H0% £100/E
554| 44| 11|#)11 il ($%)125954» 44| 11| 44| 20, 44| 20|01 HEPIHh §%12595%»
555| 44| 13|58 VAN — 44| 13|— |—
556| 44| 13|31 A o= A10(49) 44| 13| 5| 15 5| 16|54 N+&H A10%9
557| 44| 13|Ba)H E VN (%)3001€ 44| 13| 6] 21 6| 20|l E PN %3008
558| 44| 13|&M HZEBA 2059849 - (&)3% 44| 13| 5| 18 5| 18| &M H=Ek $R20B 8%
7| 12| 11| 19 11| 20{&M T= BB 230078

— 201 —




H ARPAR AR

SR H 5 D

BERDL

20

XHB24%H4R AZEALT Ko "—"38 8 L. KFIERRER] B.&&tURF DhlZAE B4 % H]
EE | Y28 R (ER) nLER B z08E AR BTH XA R (ER) XihE# B ZDE
559| 44 14 fRi% 2\ (&)2852% 44 14, 7 20 7 20 B <IN E2H2K
560| 44 14 %tk EE YESN 44 14, 6 10 6 10 5% EE 2R1FT
7| 28|— |—
561| 44 15 7% E=H%M (£)1007€ 4415 44| 19, | 44 19 FF E=H%M £1007E
562| 44| 16 Htk S $B395944> 4416/ 9 26 9 26 % EEk 38395944
FR3I7H59 — |— | 10 26 10 26 % = #R3I7H59
563| 44 16 £/ AR 245 + (8%)20032 44 16 44 28| 44 29/ EM FHEFIR #2003 - 25KR1
564| 44| 16 HEL RARHM 44 16— —
565( 44 16 #p)l| BEL (#)1525 - (80)15(59) -2 | 44 16 5 24 5 24 #p)11 Ban ®152%
4 - (#0)15(59) 6 2801l Ban #1559
9 231 BEn YESN
12| 12 fEsik BEw $%159
566| 44 16 )1l REFPIN (£)1007E 44 16/ 5 2 5 3 RERFPIH £100€
567| 44| 16 01| RIEAR - 44| 16— |—
568| 44 18 BE B AiBLR 44,18 7 2
569| 44 18 {RZh RFER — 44 18— —
570| 44 19 M EAAN — 4419 — —
571| 44 19 & B & (%)1007€ 44/ 19 44 22| 44 22/ FF BE& £100/E
572| 44| 19 fERIEE B (%)2007€ 4419 — |— 44 19 fEAE] B %2008
573| 44| 20 #0)1| KRB (%)1001 - (£)1007E 44 20 — |— 44 20 H)11 REf %100/
8 17 1 REN 210018
574| 44| 21 fBt% At R65TH - &1 - (85)1259 44 21 44 28 44 28 fE#% Bt $R65975
5% 6 13 fEt Bt 2R1LFT - 82145965 %
575| 44| 21 £E HERPIN 2%k 44 211 5 20 5 20 £E MERPIR 2K1FT
576| 44 23 fEiE FEMN ($%)255 44| 23 44| 29| 44 29 fEE FREK $%2559
577| 44| 24 5tk BH (8%)7595% 44 24/ 5 8 5 8% £ 199D %
578| 44| 24 fEFT B (£)30078 - 8234 - 44/ 24 6 28 6 28/ fEa] B £3001E
(£)10078 - $R5595% 9 4AEEIER BhrbH #8235
12 11 BEdT Bhb £1007E - $R5595%
579| 44| 25 fERT BLL 44 25 6 11 6 11 fEAT Bak - BLL 2300
(£)300/8 - &1 8 29 11 28 11 28 fm&T Bl 1M
580| 44| 25 fEET BHh 44 25 44 29
44 29 — 5
581| 44| 26 &M ERA (8%)30(8) 44 26/ 5 22 5 22| &M A AT $%308
582| 44| 26 &M ¥ 44 26/ 6 16 N
583| 44 26 =N BED 95040 - (2)100F - 2% | 44 26 44 29 © OFM Bef - tF FI00E - 508
6 16 &l BLih 2RI
584| 44| 26 [ 78 (420078 - (£)100€ 4426 6 3 6 1= FEx 220078
7 9= F8h £1007E
585| 44| 27 fEE Ret==ti) (#%)10(%9) 44 27 — |— 44 27 i TR #1050
586| 44| 29 fEi% Bl (£)500 - $§254% 4429, 8 20 8 29 pEi% E)=4 5008 - $82494%
587| 44| 29 Rtk Bl A 44 29 5 13
X258 ABEANLT [Bso"—"I3L&HE L. KFIERMER] B.&£5tURF [hlZAL B 5 0H)
EE Y2H  Ha(ER) nLER B z08E RRERMA BTH | XA | R (ERD) XihEA B Z08E
588 5 2 fEEl FEAER (£)1007€ - (8%)7545% - 2 5 2 6 2 6 1fEE FEA* £1007€ - $£7595%
ES0 7 17 Bl F R 25R1F
589 5 2 Kk B4 5 2 5 14
590/ 5 3 EE HERK (£)1007& 5 3 5 17 5 17 & FERK 210078
591 5 6 @K =AM 5 6— |—
592 5 7 E=® S UERe (#)152% 5 7 625 6 26/FE® Spugp #1525
593 5 8 HMA R (#)10078 5 8 7 1 7 1HH b4 210078
594 5 8 HHMA RAE 2% 5 8 511 5 11 BHA RAE 25KR1F
595/ 5/ 9 @B A (4)3007€ 5 9 5 14 5 14/EFHp AEH %3008
596/ 5 10 k@9 SHREM $R17593% 5 10 5 19 5 19/ kB8 Exotcii! $R165934%
597/ 5 10 O7I#t At 5 10— |—
598 5 10 M)l XAE (£)10078 5 10 6 28 6 28 Kk X fF £1007€

— 202 —



21 REFBeoeinte 205
XB255R AZEHLT [E#o"—"13@#Es L. KFIERRER] B.RitYR L [hlzAL B2 EH]
EE | M2 i (ER) MNLEA BgLz08E AR BTH XA | R (ER) KihEH B Z08E
599 5 11 &INFEK EFHRRED $R30(E) 5 11 6 29 6 30 &I SRR ER $R308
9 9 9/ 9 12 26
600| 5 13 HS INEER (&)1/152% 513 11 12, 11 12 A& N ER K EAEFES
601 5 13 A& BED — 5 13 5 20
7 21— |—
602| 5 15 Xl BKEER — 5 15— |—
603| 5 15 fEAET ZREB (%)1007€ 5 15/ 6/ 23 6 23| fEa] ER Bk £100/E
604| 5 16 RlF Eal=gcia (%)1007€ 5 16/ 5 22 5 22| Rl Ealacip £100/E
605/ 5 17 AEET BhH& (#)1007€ - $R7599% 517 6 9 6 9 fEET Bh& 210078
7 17 BEET B SRTHI%
606/ 5 18 &l BE 8354 5 18 6 16 6 16 &I BE - BEK 25008
607| 5 18 &Ml i (&)152% 5/ 18 5 28 5 28/ &M & 152K
608| 5 19 BHIFAHE AHEM (8%)559 5 19 5 24 5 24/ fEg] AEERN #5554
609 5 20 &M AR 675 5 20 6 26
610| 5 21 fBi% =) (8%)22595% 5 21— |— 5 21 B =8 $%22459549>
611| 5 22 fBi% =¥ #8135 5 22 6 16 6/ 16/ fnfe =¥ 38135
612| 5 22 Mt FRE — 5 22— |—
613| 5 22 il + — 5 22— |—
614| 5 237 AR (#%)10(%) - $R554.2% 5 23] 5 24 5 24/FM Pivcilinh 4 $%10%4. - $R55H 2%
615| 5 23 K= BE 38134089 - (3%)208 5/ 23 8 21 8 21 K& BE $R135984) - $%208
616| 5 24 M RAERMN — 5 24/ 6 16
6 25 6 29
617| 5 25 fEET FREEN 100%E 525 6 9 6/ 9 fEal FEA* $£105959%
618| 5 25 fEET =8B (8%)10(59) - (£)1007E 525 6 5 6 5 pEET E=88 #1050
619| 5 25 RER (8%)30(8) 525 6 12 6 12 % Rtk $%308
620| 5 25 BE& (8%)15(%) 5/ 25 6 11 6 12 FE# BE& #1540
621 5 25 HMHA Eopsxcii 35254 525 7 1
7129 9 27
100 19 11 18 11 18 HMH Ertci S KAV EEINEVES ¢
622| 5 26 HA X (£)10078 - 8449 - (£)100| 5 26 7 16 7 16 A@ X&E %100/ - R4
B - 3835955 729 8 5 8 5 HM X&H $83595% + ©10078
623 5 26 B Bt (%)3007E 5 26 7 12 7 12| 8=M BB %3008
624| 5 26 &M B — 5/ 26 6 16 6 16 &/ B - BE 250078 %
625 5| 26 itk MAEEP (%)1007€ 5 26— |— 5 26/ M AR +1007E
626| 5 27L& FHEM (8%)5559 527 6 7 6 6LE5 HHEM K $%5550
627| 5| 27 BHK =¥ - 5 27|— |—
628| 5 28 &l &R (38)2759 528 7 1 7 1 &M Rk $R2740
629| 5 28 E{ B (8%)559 5 28/— |—
6 11| 6 18 6/ 18/ Hft =R 555
7118 8 14
630| 5 29 I MR $R14595%) 5 29 6 28 6 28 Kl HEEFI $R14595%
631| 5 29 I BEH 1007€ 5 29— |— 7 8 RlE BHEM 210078
632 5 29 Kl FAN (3%)20 (B) 5 29— |— 6| 28 &l TN ¢ $%208
XHB2%E6A AZEALT [Bso"—"I35&HE L. KFIdRMER] BRftVYR L [hlZAL B4 5 H]
HEE Y2H e (ER) nLER B zo8E AREEA B TH | XA | R (EF) XihER B Zz08E
633 6 1H=E Bbh&E 2% 6 1 6 28 6 28 Ejli¥k Bbh&E 2RI
634 6 2 EM BEE (8%)659 6 2 6 1/=M BEE $%659
635 6 2 BSMN/NER AEER 2% - (8%)2595% 6 2 6 11 6 12 Bk MEER 25KR1fT - #52595%
636 6 3AHE EEEMR (8%)8535% 6 3 6 7 6 8EHE EEFPI* $%85954>
637 6 3#HE Nyt 2%k 6 3 6 10 6 9EH TR 25R1
638 6 4% BB (#£)2000€ - (®)2%-(®)2 | 6 4 8 4 8 43tk 28 %2008
% - 2354 10 11 5 i) 25K1T
11 10 %% st $R3% - (2)K1T
639 6/ 4AE B8 (#8)6(59)64> - (£)100E 6 4 7 1 7 1EE BBk $R355 7%
(8%)53(54)3% 100 110 11 24, 11 24 BB BBk #100/€ - #£53549.3%
640 6 4EHE TR (#8)36(54)6% 6 4 7 1 7 148 TR $R3559.79 %
641 6 5 2 FMF ($%)20(8) 6 5 7 2 7 22 HF $#%208

— 203 —




HARPUKHRAL,  S0HTE H 5 O 298K 22
XH256 A ABEALT [BEo"—"Ig8&H s L. KFIERMER] BaFtUR [KizAL B% 2 28]
EE | 28 | & (xR nNLEL B L Z0E B ®TH | X8| BsER XihER Btz 08
642 6| 5|Ef Bl (8%)155 6] 5/ 7| 6 7] 6|@EK HE $%£15%
643 6| 9|FAM 5 (£)1007€ - $R1598% 6/ 9] 7/ 5 7| 6|ER 5 #1001 - $R1598%
644 6| 9|mEft FAN - 6| 9— |—
645 6| 9|4 FHETPR |[EMF ()10078 6| 9| 6|28 6| 28|@+ IEMF 21008
646| 6| 10\ EN [N +HEEM - 6/ 10 7| 1
647| 6| 10|AM™ am (£)20078 - $R2594% 6| 10| 6|23 6| 23|AMA aMh #2001 - $R2594%
648| 6| 10|MH optE 6| 10— |—
649 6| 11| TR BE (#)100/€ - $R2598%) - 6/ 11| 7|19 7| 19| B3 BH %1007 - $R359%
(&)25%
650 6| 12|FF -1 (£)1008 6/ 12| 7| 3 71 3|F FR 210078
651| 6| 13|=M M=K (%)1007€ 6| 13| 6| 16 6| 16| M M= £100/E
652| 6| 13|= M TRER (%)1007€ 6| 13| 6|30 6| 16| M R ER £100/E
653| 6| 14|l RERF - 6| 14| 8|19
— |= ] 11] 20
654| 6| 15|&MH RARM (#)20078 6| 15| 8|13 8| 13| &%k RAREM £200/8
655 6| 15| ERL (8%)559.9% 6| 15| 6|19 6| 19| M piid 4 5599
656 6| 16|2#] )] (&)352% 6| 16/ 9|20 9| 20|&751 | EAEVES ¢
11| 12|fB#% | #3525k 2AH
657| 6| 18|&M = (£)6007E 6| 18| 10| 2 10| 2[|&M F =B £1M24%
658| 6| 18|&/M FERBEA (£)3005€ - $R2595% 6| 18| 6|30 10| 2|/ FERER %3001 - $R2595%
659| 6| 18|Mt & (#%)12595% 6/ 18| 7| 3 7| 3|EF Ea $%12595%>
660| 6| 20|3&THT & (8%)20(B) - 1524 6/ 20| 7| 7 7| 8|iETET A $%208
7| 24| 8| 6 12| 12|3FIHT A #152%
661 6| 20|fE%% FNAR - 6| 20— |—
662| 6| 20/M))IIEm  |PUEBEA (#)10072 6| 20| 6|25 6| 241011 s =2t £100/E
663| 6| 20|&%% BH ($%)20 - (£)100%€ - 6/ 20| 7|10 7| 25|&% BT $%208
(#%)20(8) 7| 25— |— 9| 10(&% BE £100/®
11| 18|&% BE $%208
664| 6| 20|FE M it (£)10078 - $R4592%> 6| 20| 7|20 7| 20|=M BETR $R4A592% - ©1007E
665 6| 22|BHl SHEP (£)152% 6| 22| 7|11 7| 11| RNk HRER EAEVES
666| 6| 23|X= B - 6| 23| 6|29
667| 6| 23|BRIFAHE |fELE (#)152% 6| 23| 7|23 7| 23[KERY e £152%
(#%)30(8) 9| 29| 10| 28 10| 27[pE&l [edzat $%308
668 6| 23|ME &% — 6| 23|— |—
6| 25| 7| 7
669| 6| 23[H1I FRREBA (&)2424 - 100 6|23 8| 6 8| 6|l FRREB 2525
12| 6|#0)I R ER 210078
670 6| 23|Il 5t (&)252% 6|23 9 7 9| 7|HnI 5+ E24525K
671| 6| 25|RIH R $R815 6| 25| 10| 24| 10| 24|Rl& R $B815.
672| 6| 26|Mft IR - 6| 26|]— |—
673| 6] 26|/ YERER $R485935> 6| 26/ 9|22 9| 22| M 1ERER SRABSIAS
674 6| 27|MK W ($%)10(%) 6| 27| 7| 3 7| 3|ER W #1059
675 6| 27|&=M XAHM (&)152% 6| 27| 7|22 7| 22|&=M XM £152%
676| 6| 29| RIEER ($%)27595% 6| 29| 7|20 7| 20|F=® RIUER 275959
XBR%ETR AZEHLT [E#o"—"13# % L. KFIERER] B.RtUR L [hlzAL B2 EH]
EE | Y28 | i (ER) MNLE4A BgLz08E amBE #TH | XiB | wEdER KihEH B Zz0E
677| 7| 1|EH BE - 701 707
678 7| 3|MK REEP - 71 3]— |—
679 7| 5| O - 71 5|— |—
680 7| 7|ME#ET BB (#%)500(32) 71 71 713 7| 13|1EE* =30 ¢ $%5003C
681 7| 7|XE JRATHET (8%)10(59) 77— |- 12| 11|BF% REREP $%1059
682| 7| 8|&E BR (£)50078 7| 8| 10| 13 10| 13|&E ER 250078
683 7| 8|EM ERHRN - 71 8]— |—
684| 7| 10|RIH AGREFR - 7/ 10| 8|19
685 7| 10| =<t (#®)1525% 71 100 7|21 7| 21|FEM pcl=2t #1525
0% T\ ILAEN RF #27593% NI 9 28 ) olamk |ew 5w #275235
687| 7| 11|ABHK BT 71 11| 8| 14
688 7| 11|MEf BAERMN - 7111 7121

— 204 —



23 KGR 205
X2 7H ABEHLT [BE#o"—"IsR8&8 % L. KFIdRmER] B.&&Y X b [KizAL B 2 EH]
EE | M128 eUER  N2EA Bt zo8E RERA KTH XihB HWE(ER)  XIER Btz
689 7 12 B BRE (£)200%€ 7 12 8 71 8 7tk B £2007E
690 7 12 pE#k XN (&)1%525% 7120 7 29 8 7/t XA £1%525%
691 7 12 &M R BB — 7 12 8 4
692 7 12 #1| SKHNEER B (£)100%E 7 12 8 4 8 4 # ANHEER BR #1008
693 7 14 BEMNTERE | AAKHE (£)2007E - 15:2% 7 14 8 16 8 16|fHM NA+E £2008
100 6 Bl NA+E 1525
694 7 17 @R BE (8%)559 717 7 26 11| 16/@EK (GES ¢ $2559
695 7 18 Hft HAPR B ER #R20(8) 7 18 8 14 12 7@K AR B ER $R208
696 7| 19 #II FIAR (8%)9595% 719 7/ 26 7 26 011 FIAR 295959
697| 7 19 HMA FAE (8%)559 - (8%)7545% 7 19 7 23 7 23/8@E i $2550
8 2/ HMA TE $%75955)
698 7 19 jE#t HAEM (8%)2595% 7 19 7 29 7\ 23 B AR 525955
699| 7 20 #I| RAERM (£)100% 7 20 8 19 8 1941 EZstnmb %1007
7000 7 21 pB#% =< (£)100€ - ($%)11545% 7 21 8 5 8 5Btk =2 #1007 - $511595%
701 7 21 AE B (£)100%E 7 021 7] 24 7 23 AE Bhi £10078
702| 7 23 &l BOE $RA24944) 7 23 10 19, 10/ 19/FJM BOE $R425945
703 7 23 &M BFR $R49535% 7023 11 16/ 11 17 Bk BFR $R49595%
704 7 23 &M RAERPIN (£)1#:2% - $R494% 7 23 9 23 9 23| &M AR $BASYASy - E1H2R
705 7 23 &M RE®BPRN 38294 7 23 8 30 9 23| &M RERP* 38294
706 7 23 BELEE EAHP $RA3595%) 7 23 9 24 9 24/F4E TE A RIS 38435959
707| 7 23 pB#% Ea) (#)200% 71 23 8 10 8 10 fEf Ea) %2008
708| 7 24 ®IMNBlIE  EEEPIRN (&)28:2% - 83K 7 24 10 7 10/ 6/31& EEREP* $R349 - 24525
709| 7| 25 fEBEiEE REEAEF R4598% - (8%5)500(%) - 4R 7 25 8| 5 8 5 AEA] FEIERAEPY $%5003C - $RANTHK
85954 9 8 fEal RETEARPY R8240 %
7100 7 25 @)1 — R (&)2425% 7 25 9 7 9 74 2Rt 252K
711 7 25 Eig FAER (#)1007F - (8%5)18%3%2 | 7 25 8 18 s 17 Ei FRER S1007F - 3518503425
712| 7| 25 El& AR % 7 25 7/ 29 BHEB
713| 7 26 EE BL® (#)100%E - ($%)7595% 7 26 9 11 9 11F= B #1001 - $57595%
714| 7 26 FEE BE 2% 7 26 8 3 8 3|E= BE 2RI
715 7| 27 ;%1@ 5= 5 (4)300F 7 27 8 271 8 %T 5= £300
716| 7 27 &5 B < 7 21 8 21 k231 B <
717 70 29 B5M HEH (£)252% 7 29 8 27 8 27 BAM HER E&252%K
718| 7 29 f&EL ESURS (£)1%525% 7 29 8 16 8 16 B BYL £1525%
719 7 29 pB#% [y il (£)152% - (£)100E 729 9 10 9 10/fEt% (= Z& 1P £1525%K
(8R)359 11 7 X& =B #1001 - $R35.
XB248A AZEHALT [BE#o"—"Is28 % L. KFIdRmER] B.&ftY X b [KizAL B 550 H]
HEE  MPE we(ER N O2ES B z08 AR KTH XihB HWE(ER)  XIER Bt z08E
7200 8 1= =1 (8%)15(49) 8 1 8 12 8 12|F= =1 $%1550
721 8| 1E= MNP ($%)12595% 8 1 8 12 8 12 E= AR #%12595%
7220 8 1B Bt 10 8 1- |-
7230 8 2 BHMNZ=HR BAEEL (£)100% 8 2 8 17 8 17BN =R | BFER %1007
7240 8| A MpILLEE  EME (4)1007€ - (£)100€ 8 4 8 10 8 1041 B 2100
10 1401 ETE 410078
725/ 8 4% Et A30(8) - A30(8) 8 4- - 8| 4%k Bt A308
10 29 BOA~ A308
7260 8 5 &% EHHEM 2% - (8%)55 8 5 8 21 8 22 &% EHHEM $2550 - 25R1T
727 8 5 B#% &8 (8%)659 8 5 8 12 8 12/fEtk ®Bh $5659
728 8| 5 E BEEM (8%)659 8 5 8 30 8 12 B EEREPTR $£650
729 8 5 FHAY BE - 8 5 8 15
7300 8 5 FHAS ZHEM (8%)10(58») 8 5 8 11 8 11|=ft REREPI $%60037%
731 8| 5 EA BEE@M A (2558 8 5 8 19 8| 19 =it EEEP % #5549
732 8 5 B#EH |F=AAEM (82)10(5 ») 8 5 8 11 8 11/fmt% Eatcilnl $£60037%
733) 8 S5BHMOO |EmAH - 8 55— |— 8 5|BHM Eyaols! $RA591 5%
7340 8 6 ZEILEEET XBIR (£)1007€ - (£)100 8 6 8 12 8 12 &) Xk 2100
9 18| Xk 21008
735 8 6 BBET FBIR (£)1007€ - 875974 8 6 9 24 9 24|fEHT FE% 75914 - 100
736 8 6 /E BhiE 1007€ 8 6 9 1
737 8| T E= BAEE (8%)25(59) 8 7 9 11 9 11 &= EEM $£2559

— 205 —




HARPAR AR, SURTIE 5 SR DS FRRIL

X248 A ABEALT [Bgn"—"138H A L. KFIEKRRHER] B.&FtY R b [hlIA L B2 0H]
EE | M128 & (ER) NLaE4 B zo8E RRERE RTH pZ/N=EEACES D) XihER B zogE
738| 8 T RBHE] =i} (8%)75954 - R399 - R 8 7 8 16 8 16 AEAET R 27554 - $R3599%
559 9 4ERIEHEXx R SR55945 %
739] 8 7%k =8N 8 7 9 10 9 10 # 2k - bR £1@E
20 8 1w ok E1W - B80S 8 7 8 30 10 1@k 5& 501k
741 8 8 BR BEZ (£)3001€ 8 8 11 7. 11 71BRE BEZ 230078
742 8 8 EM EBF (&)28:2% 8 8 9 27 9| 27 &M EEF £252%K
743 8 9 RBHE HF $RAIHISY 8 9 11 13/ 11 13 El4 I $£49599%
744) 8 9 RBHE (BT $833591% - (£)10078 8 9 12 2| 12 2E4 = £1007€ - 38338415
745 8 10 RMBIB HEEEPIS — 8 10 8 11
746 8| 10T = (£)100€ - $B5H7%> 8 10 8 2 8| 25 T wE - £1007E - $B55975
747| 8 10 THE BFHR 8 10 8 30 T BFHR
748 8| 13 &M THE $R12498% - ($%)1554 8 13 8 29 8| 29 BAM Rk $R1265% - #5155
749| 8 13 %k KRR (£)10078 8 13 9 18 9 18 KRR £1007E
750| 8 13 /%% REh (#)1007€ - (&)2% 8 13 8 30
(£)100% 9 18 # #HBhk 210078
751 8 14 4l BE (32)12595% 8 14 8 21 8 21 1l BE $£12595%
752| 8 14 fRE] BLD 8 14 8 16
753| 8 16 L KEF/A 2% - (8%)2595% 8 16/ 9 10 9 10 % S ¢ 25KR1FT - $%2595%
754| 8 16 fRi% L25E) (£)2007€ 8 16 9 29 9 27 fBi% $RBh% 220078
755 8| 17 BR BEX? $R5H59 8 17 8 20 8 20 BR BET? $R5559
756| 8 18 2] BEAHPIN — 8 18— —
757| 8 19 BERT Hike (£)1005€ 8 19 9 19 9 19 pEAET i 210078
758| 8 19 4l FEEFMR (£)200 8 19 9 15 9 151 FEEF* 220078
759| 8 19 ZfitiE AF (&)252% 8 19 10 18 10 183 AF £15:2%%
760| 8 19 FF WIBEN (£)1007€ 8 19 9 16 9 16 FF RIBEN 210078
761 8 20 &M HEtm (£)100® 8 20 9 23 9 23 &M Btk 210078
762| 8 20 &M {ZBh N 8 20 8 30 9 23 &M 1ZBhk £1007€ - 8824935
()100F - 82595% - 2% 11 17 AE % Ek 2R
763 8 20|BHid / BI A 2% - ($%)2595% 8 20 9 2 9 2/ BHM SN #2954 « 241
764| 8 20 BA/NGEE? R 10078 8 20 9 20 9 20 BAHI FER £1007E - $5359%
765 8| 21 FEREH |FEX (8%)20(8) 8 21 10 4 10 4F= FER $#%208
766| 8 21 %;\\i WAEEM (e 1524 8 21 9 10 ol 10 %;% WEREM 1m0
767| 8 21 = T 8 21 8 30 B T
768| 8 22 REIFRE|HEE (8%)6596%> 8 22 8 24 8 24 fBH] BEO% #6565
769| 8 21 fEE BE{- £ 2% 8 21 9 1 9 9mE= ZF% 2517
770 8 21 FF L (8%)25(59) 8 21— |— 8 21 Fm Fay: #1550%
771 8 22 FE#E KEXERP  (£)1007€ 8 22— — 8 22/ FZ XA P 4100/
772 8 23|FEET i&Bh 2% - $R3M3H 8 23 9 20 9 20 pmaE] iEBh 25R1FT - $R3593%
773] 8 23 &EE JERsrcilta 2% - (8%)58 8 23 9 4 9 4FE JERStcilieh d %55 - 2R1T
774| 8 23 fEETEME |EBH e - 2 - SR3IWTH 8 23— — 11 3EsTEM  HBh 25K1F - SR3WTHK
775 8| 23 BEAT N ($%)10(%9) 8 23 9 7 9 7|AEED N #1084
776 8 23 /EE SERER (£)100E - (8%)55 8 23 8 27 8 27 = ZREB £1007€ - $31059%
777| 8 24 REIFRE BhHE (£)600€ 8 24 10 19/ | 10 19 BEAET BT 21245
778| 8 24 EEIFAE BY X (4)3007€ - (%)4007E 8 24 8 30 9 1BH BY=E £3007E
100 19 BEal BY=E &1
779 8| 24 &M BEBENRS (£)200%E 8 24 9 27 9 27 &M BEEE %2008
780| 8 24 M= | EFR (£)300 8 24 11 23 11 23/#0)i% KK £300E
781 8 24 Rl SEPUER £1M 8 24 10 24, 10| 24 R EUER &1
782| 8 24 TE AR EIRFER | (£)100%E - (35)55 8 24 9 7 9, 7 TH SR K #5554 - 100
783| 8| 24 #EEEFT |AEPUER - 8 24— —
784 8 25/% KEEMER  — 8 25— —
785| 8 25 &M ZREB (£)1007 8 25 9 23 9 23 &M ZRER 210078
786| 8 25 BEHT BE 2% 8 25— |— 8 25 pEA] BE 241
787| 8 27 fRET BB ($%)15(5) 8 27 9 9 9 16 fEa] =320 #1559
_ - 225;591\ @A) * Pwm mmoat me2nss
788| 8 27 fEE 4 (8%)25(59) 8 27 8 30
9 15 10 16/ | 10 16 fE&] A+ #2557

— 206 —




25 REFBEIIERRSE 520

X BR2E8A ABEALT [BEEO —R8A L. KFIERER] B.&FtUYR b DhIFAE B7 2 EH#)
HEE 428 Ha(EE)  PESR KL Z08E BEEN TH | XILE  MAGER) | ZHES BB z08H
789| 8| 27 B BEEA (£)100E 827 8 30 8 30 fEis FEEAB  &100%E
790| 8| 27 pBi L (£)10078 827 8 30 8 30 fmig st 210078
791| 8| 27 BEAT R — 827 9 2
792| 8| 27 #RIEHRS MR (8%)12595%> 827 9 7 9 7|#ER MR $%12595%
(8%)7595% 9 24 #IER R 754959
(82) 75959 10 23 fR{ERT R 755
793| 8| 27 &% R (%)2007€ - $R3594% 827 9 22 9 22 &% R $R35949) - £200F
794 8 27 &M PEVAN 2% 8 27— — 8 27 &M PEVAN 25R1FT
795 8| 29 KEAT BHZ - 829 11 28
796| 8| 29 EIEEH 0 mEH? - 829 9 21
797| 8| 29 #)II BXER (%)1007E 829 9 12 9 12 Il BRER £100/E
798| 8| 30 ik B A3TH. 830 10 10 10 9% B A3TH.
799| 8 30 fEET R (%)100/ - KAl 830 10 10 10 10 BBl R 210078
XB25E98 AZEHALT [BEF0"—"I3Z#HH L. KFIERER] B.&ftYR b [ l3A & £ D 28]
HEE 428 Ha(ER) WPESR BHL 208 BEEN TH | XILE  MBGEF) | XHESR B¥LZ0OHE
800| 9 1 &FHM SRAREPT - 9 1 10 7
801 9 2@ BOH (&)1%52% 9 2 9 10 9 9 Bom £15H2%
802| 9 2% EF (38)23549.3% 9 2 10 7 10 7% EF #2335
803| 9 2&E F=ER (8%)14598% 9 2— — 10 18 &= F=EB $#%14598%
804 9/ 2 @R 5+ A 2% - 2% 9 2— = 11 5 Eft 5+% 2%R1FT
805 9/ 2 FMMMbL  ALXEGHE — 9 2 11 16
806| 9 4 AEK pEX (£)2007E 9 4 11 19 11 18/ ARk BEX 220078
807| 9 4 EHE B - 9 4— —
808| 9 5 XMEFH KB (8%)12(%) - (%)12(%9) 9| 5 9 13 9 15 % RZBh $%1850%
809| 9 5 EE AN E (£)2007E 9 5 9 30 9 30/ XA £2007E
810| 9 5 &= EEFEF (2)252% - (£)300 9 5 9 14 9 15 g At - Bxbk 2100k
a BRI £252%
811 9 6 Il FZARRA (£)1007E 9 6 9 12 9 12 Il F=Ak 210078
B389 (2A%)
812 9 6 #I BEEN R85 9 6 9 30 9 1281l ci=dc) ¢ R259%
813| 9 6 M)l BXREE A (£)100 9 6 9 30 9 12 Il BBk 210078
814| 9 7 XREWE? HEH — 9 7— —
815 9| 8 FEAT == (£)100/ - KAl> 9 8 10 10 10 10 Bl R £100E %
816 9 8 &I BE - 9 8— —
817| 9 8/ =M BTR (£)3%25% 9 8 12 26 12 25 &M BTR £35%525%
818| 9 9 BR A (£)1007E - $E8H 1% 9 9 11 5 11 12BE R $R8591%> - #1007
819 9 9 pE# EA #£13593% 9 9— — 9 9 fEE A 135935
820 9 9 ==l el (£)1007E - $23591% 9 9 9 19 9 18 =) E el £1007 - $R3541%
821 9 10 &FHit BAH - 9/100 9 24
822| 9 11 = HFER 2% - ($%)45 9/ 11 9 25 9 25 EE HFER $%459 - EELT
823| 9| 14 BBHY FEEM $R95924> 9 14 10 11 10 11 B0 RER $8959.2%
824 9| 14 BR BHH (£)1007E 9 14— — 9 15 BE BhbH 2100, AL - BHH2AS
825 9| 15 BR FRAER - 9 15— —
826| 9| 15 TB3 M #£19598% 915 10 7, 10 7 FE3 MR 819585
827| 9| 17 =AY #8h (&) 152% 917 9 27 11 13/EA FIBh S152%
828| 9| 18 & BAK (3%)19% 9 18 10 12 10 12/E=# HAK $£19%
829| 9| 19 =AY +41%EP — 919 9 25
830 9| 21 K& it $R359 921 9 23 9 23 Rl wt B35
831| 9| 24 &)l BRE (£)3005E 924 11 15 11 1501 BR 230078
832 9| 24 )l SRR - 9 24— —
833| 9| 24 #)I| BTE (£)100/E - (£)100 | 924 10 1 10 1#0)1 Bbt 210078
10 26 #)11 BTE 210078
834| 9| 24 )l BJRER (£)1007F - $R754 924 10 1 10 1#0) ZJKER $R749 - £ 1007E
835 9| 24 )l B4 fizlp sl 924 10 1 10 10 Bz fiElb sl
836| 9 25 A EHHM (£)100/ - (£)100 | 925 9 27 11 13 &=EH EHH#M 210078
12 22 =ht ZHEM 210078
837| 9| 26 ik BE - 926 9 29

— 207 —




HARPAR AR, SURTIE 5 SR DS FRRIL 26

XB2E9R  ABEALT (RO BEWG L. AFERER) BAHUXF kEAL RE S IEH]
BE VDH wA@EW) | ABEL | AWLZOW AWK KTH | XIE | MAGR) | ThER #HLZOB
838| 9| 26|AEHI 55 iR408 9| 26| 11| 13 11| 13(AERT S5HEM R40E
839| 9| 27|B#& R EHIED SR1T5H4%5 9| 27|— |— 9| 27|kt EHIE) R1TH4S
840| 9| 27|kERET E+ 2R1T - (3%)115 9| 27| 10| 17 10| 17(hE&T E+ #1154 - 25R1fT
841| 9| 28|FIN HA $R3356% 9] 28] 10| 22
11112 12| 2 12| 2|FM J2VAN #R3359.69>
B2l S| 28BN BREF | ero00w - 93835 |of oo oo 0| 23l |SRHE %200 - €335
843| 9| 28|#)1l SEBNE 9128/ 9| 30
844| 9| 283tk VAN - 9| 28|— |—
845| 9| 28|zEM HERER - 9| 28|— |—
846 9| 29|81l BHD A2384. 9| 29| 10| 28 10| 28(#p1l BHD A235%
847| 9| 29|hEay Bt (®)152% 9|29| 10| 28/ 10| 27|kesl Bt #1524
848| 9| 29|E AR - 9| 29|— |—
XB2FL0R  ABBALT (RO BENG L, AT kD BHUA kAL R 2508
BE VIDE wAE) | APEE | AWLZOW AWM KTH | XIE | BAGR | TnEA E® 2O
849/10| 1|BERET E+ B8/ 3% - (8)745% |10/ 1| 10| 20 10| 20|AERT B+ $R853% - ST
s50[10] 2j®  |RAATE |@)is2k 0] 2= |- || 10] 2@e  |pavrm |[@imex
s5110] 3@ |mEm @152k @200 |10 3— |- || 10| 3Bk |NEm  |S132% - 520X
X - @152 8|24 R L
82[10] 4Rl |mmw  |@030() - @100 |10 4| 11| 2| 11| 2\B#  |mmk  |@aod
1 sjEs  |mek |miow
B310] O FEE a)ssos OO 2R ) e |Em 232k
854|10| 6|fE# B 10| 6| 10| 29
855/ 10| 7|HMA Bhrn (£)1007E 10| 7| 10| 24; 10| 24|HHA Bhrh #1000
856| 10| 7|HH =T (£)100/€ - $R1254 10| 7| 10| 16
10| 24| 11} 23 11} 23|HHA EF #R124 - ©100%E
85710 7% |3 2% - 53855 w0 7= |- | 10| e | 2KLF - B3k - HINEH
858/ 10| 8/HM #E (4)1007€ 10| 8| 10| 14 10| 14|HH 1 %100
859| 10| 9|40l E AP $R2550 - 24k 10| 9| 11| 8 11| 8|l BN #R255
I G
860/ 10| 9|&FE=E AL (4)10078 10| 9| 10| 29 10| 29|&=% AL £100€
861| 10| 10| AKX /&))Z'L&,E\ﬁf 48375954 10| 10| 10| 29 10| 205k dﬁﬁﬁ%i?ﬁi $R37595%
862| 10| 10| ABK HLERIE 10| 10| 10| 29 H LRt
863 10| 1M @H |56 |@)100E /11 11] 6| 12| 1|mwEn  |wEk |08
111 19|— |—
864| 10| 12|pE#& iR (&)242% 10| 12| 12| 19 12| 19|fB# it 2524
865/ 10| 14|fEt% BN (4)2007€ - 45965 10| 14| 11} 12 11| 12(fE#e VAN %200/€ - $R45I55%
866| 10| 14|fE# F8h (£)2007E 10| 14| 11| 6 11| 6|E#& T8h €200
867| 10| 18| & TEOREEPS (£)6007E 10| 18| 12| 3 12| 3|8% pemlisd 3R600/E (£ »)
868 10| 19|41 FIE (&)152% 10| 19| 11} 26 11| 26(#p1l on £152K
869| 10| 20|AHA AR (£)2007€ 10| 20| 11} 18 11} 18|HH HHEMP - Nk 1M 7 525%
870/ 10| 21|BAIN TTL%*‘JEjJ 8775 10| 21| 11} 26 11l 26 B TUE}J BT
871| 10| 21|BAs/H #8h 10} 21} 10 29 B 8y
872/ 10| 21BN OEEES $R30(8) 10| 21| 10| 29 11| 26(B5IM B $R308
873| 10| 21|BAH BR (&)242% 10| 21| 10| 29 11| 26|B5JH BR 2524
874|10| 21BN H AR (£)2007€ 10| 21| 10| 29 11| 26(B5M HAHP %2001
875/10| 21|BAIN TRAER $R30(8) 10| 21| 10| 29 11| 26(BAM PPN $R308
s76[10] 21[EM__ |frEmr |- 10 21— |-
877| 10| 21|fB#& LR =00 (4)2007€ 10| 21| 10| 25 10| 25(fE# =BBBhH #2001
878| 10| 22|AE#1 BRI $R19594% 10| 22| 11| 12 11| 12|fBs] BRI 195445
879/ 10| 22|41l BE - 10| 22|— |—
880| 10| 25/HK R=BR - 10| 25|— |—
881| 10| 25|&JM TR - 101 25|— |—
882| 10| 27|35k =8 (#%)20(8) - (8%0)15(%) |10/ 27| 11| 11 11| 11|38% TFEfE* %208
2 Ujpe F=m |misw
883/ 10| 29|HEft EEE - 10| 29| 11} 13
884|10| 29|MEM MAE - 10} 29| 11} 30
885/10| 29|E =R - 10| 29|— |—

— 208 —



27 KBRS 205
XH2%11R8 ABEALT [EB0"—"FDEHA L. KFIRRER] BastUR [KIzAL B B EEH]
HEE 428 | Ha(EE) | NESR Bz lamEY & TH 3B | M (ER) | XihER g¥rzoH
886/ 11| 1/BE B (£)2005€ - $865944 |11 1| 11| 28 11| 28|B/R B 420078 - $R65945
887[11| 2|# BEo, N |(BR)1285% - (80)20(8) 11| 2| 11| 5 11| 5 BEDK $£124595%
11| 23|=itk BEDK $%208
888| 11| 2|28 =1 (#£)100E 11| 2| 11| 6, 11| 6|25 E1F £1007E
889|11| 4|FFMIIMLY 5 | FrEEfE (£)1007E - (#%)754 11| 4| 11 17 11| 17(B5MN TREf 210078 - #7454
890| 11| 4|Mft AR ER - 11| 4]— |—
891| 11| 4|@f VAN — 11| 4|— |—
892| 11| 7|&#% EAHF AW (2% - 917859 11| 7| 12| 23 12| 24|&2#% ISESreils $R1TH5S - 25R1fT
893| 11| 10|&E/M BN - 11| 10|— |—
894| 11| 10|/ 'E - 11| 10|— |—
895| 11| 10T Hy =T ($%)20(8) 11[10| 11| 14, 12| 4[FTHE £X $£208
896| 11| 10|MA KEAER - 11| 10|— |—
897|11| 12|EAALA |E=XK - 11| 12|— |—
898| 11| 12| XERA (4)10078 11)12| 11} 21 11| 21|E2 Xk 210078
899| 11| 13|BA/H SRR - 11[13] 11] 21
12| 18|— |—
900| 11| 15|87 HEBh - 11| 15|— |—
901| 11| 15B5HLA  |FA 2%k 11] 15| 11| 20/ 11| 20|BH9N FA 25KR1FT
902| 11| 17|28 E22 — 11 17|— |—
903| 11| 17|27 RBh (£)10078 - 3R)24954> | 11| 17| 12| 9 12| 9|&%; b3 %1008 - $R2595%
904| 11| 19|=2 xS - 11 19|— |—
905| 11| 20(#p)1| 8 (£)10078 11|20| 12| 9 12| 9l#ni 7B 210058
906| 11| 22|AEaT EBh - 11| 22|— |—
907| 11| 22|fEET 8RN - 1122 12| 9
908| 11| 23|fE#T BE 25K 11] 23| 12| 25/ 12| 25|pBET BE 25KR1FT
909| 11| 25|fB#% + R ($%)3259. 11] 25| 12| 19/ 12| 19|@#% + A $%3259
910| 11| 25|fR% sE0 — 11| 25|— |—
911| 11| 25/fB#% =8 — 11| 25|— |—
912| 11| 26|31 T (8%)255. - B35 11] 26| 12| 19/ 12| 19|5#% T $R359 - $%2559
913| 11| 29|%i#% FraEr - 11| 29|— |—
XE2%12R AZEHLT [BEO"—"FREH L. KFIEERER] B.&stUR L [ lFA L E4 D R H]
EE MZA| wa(ER) | N2ESR Bl Z0E amEN %TH XihE | HBEGEFT) | XIER B z08HE
914| 12| 4|mipsmk At | RS $RA4%5 - (82)55. 12| 4| 12| 12| 12| 12|Z&igs =E $RAAS - $555
915/ 12| 6/#0)Il BEETRIPY - 12| 6|— |—
916 12| 6|B /M HEA - 12| 6|]— |—
917| 12| 17| R (£)10078 12| 17| 12| 28 12| 28|£E RIF 210058
918| 12| 24| BR LARAEE |- 12| 24|— |—
919| 12| 27|xHsaRE A | E BN - 12| 27|— |—
<T7Z>

— 209 —






